A /v‘ . p/\p\ WMA-W88C-401-090WT

X-JOoy

w88C-401-090WT ENG ¢ RUS
w8g8C-401-100WT



English

& Installation

2 instructions

« Installation of item should be carried
out only byqualified personnel, following
the instructions of this guidance.

« Assembly is carried out by two persons.
» Please, check for presence of all details
after unpacking. Glass panels must be

transported vertically.

» Please, lean glass panels vertically
against the wall during assembly
of other parts.

 |tis expressly prohibited to wap upon
corners of glass panels.

It is required to remove protective film
after carrying out of assembly oprations.

£ Product
maintenance

» For correct operation of the system it is
required to install purification filters at
feed pipelines with degree of purifica-
tion of 100—300 micron.

 For the avoidance of damage of the
surface of the product it is not allowed
to use water of temperature more than
60°C.

» Use only mild detergents and soap for
cleaning of the item.

* Do not use corrosive washing agents or
abrasive pastes for cleaning of the item.
» Accute contamination on the surface
is reccomended to treat with diluted
vinigar and wash off with water.
» Shallow scratches (for acrylic parts
of the item) can be removed with fine
grid sandpaper (grade 2000).

Instruction is designed for expert.
Assembly and installatin must be carried
out only by qualified personnel following
the instructions of this guideline.

ATTENTION!
Assembly is carried out by two persons.

Producer has a right to introduce change
of component parts that has no effect on
appearance and functionality of product.
All parameters indicated in this instruction
have formal meaning. Producer reserves
the right for technical changes.

After assembly sealant must be given
some time to harden. It is forbidden to
use item wihin 24 hours after completion
of installation.



& Ykasanus

24N\ no MoHTaxy

* YcTaHoOBKa U3genuvsi AokHa
npon3BOoONTLCA TOJNTbKO
KBanuguuMpoBaHHbIM NepcoHanom,
crneayst UHCTPYKUMUSIM AaHHOTO
pPYyKOBOZACTBA.

» Cbopka ocyLleCTBNAETCA cunamm gByx
yernoBek.

» [Nlocne pacnakoBku NpoBepbTe
Hanuune Bcex getanen. CTeknsiHHbIe
naHenun JOMKHbl TPAHCNOPTUPOBATLCS
BEPTUKANbHO.

» [locne pacnakoBKM CTEKNSAHHbIE
naHenu NPUCIIoOHANTE BepTMKaNbHO
K CTeHe Ha BpeMsi cOopkM ocTanbHbIX
yacTen.

» KaTteropuuecku sanpeliaercs ctyvaTb
Mo yrnam CTeKNsHHbIX NaHenei.

lMocne npoBeaeHns MOHTaXHbIX paboT
Heo6XoAVMMO yAanuTb 3alUTHYIO MMEHKY.

< Yxop,
3a NPOAYKTOM

» [1na npaBunbHOro yHKLUNOHNPOBAHNS
cucTembl Heobxoanma ycTaHoBKa
VNBETPOB OYNCTKM Ha NMOABOASILLNX
Tpyb6onpoBoAax Co CTENEHbIO O4YNCTKU
100-300 mk.

* Bo nsbexaHne noBpexgeHus
NMOBEPXHOCTM N3OENNs He JAonyckaeTcs
ucrnonb3oBaHve Bogbl TeMnepaTypoW
6onee 60°C.

* Micnonb3ynte AN O4MCTKN M3genus
MSArkMe MorLLme CpefcTsa U Mbiso.

* He ucnonb3synte ons o4MCTKN N3genns
arpeccuBHble MOKOLLME CPpeacTBa Unu
abpasuBHble NacTbl.

Pycckuii

* CunbHble 3arpsi3HeHns Ha
NOBEPXHOCTM PEKOMEHAYeTCS
obpaboTatb paszbaBneHHbIM YKCYCOM
M 3aTeM CMbITb BOZOMN.

* Hernybokue uyapanuHbl (4ns
aKpUNoBbIX COCTaBMAOLINX N30enns)
MOTyT ObITb YAaneHbl MENKO3EePHUCTON
HaxgadHon Gymarow (3epHUCTOCTb
2000).

C6opka n ycTaHoBKa J0OMKHa
Npon3BOANTHLCS TONBKO
KBanMuuMpoBaHHbIM NEepCcCoHarnoMm,
cneaysi MHCTPYKUMAM JaHHOro
pykoBoAcCTBa.

BHVMAHUE!
PekomeHayeTcsa cbopka cunamu AByX
crneumnanmcTos.

MpousBoauTENb UMEET NPaBo

Ha MU3MEHEHMWe KoMMeKTauum,

He BnusiloLLLee Ha BHELUHWI BUL,

1 pyHKLMOHaN NpoaykTa.

Bce napameTpsbl, ykazaHHbIe B JaHHOW
WHCTPYKLUW, UMEIDT hopMarnbHoe
3HauveHue. MponsBoauTens octaBnseT
3a coboii NpaBo Ha TexHUYeckne
N3MeHeHus1.

Bce cTblkn obpaboTarite
CUITMKOHOBbBIM FrepMeTUKOM (nokasaH
K MPpMMeEHEHM0 Nto6OoIN CUNMKOHOBBLIN
repmMeTuK oTBeYarL i CBOMCTBaM
ph-HenTpanbHOCTW, 6ECLBETHOCTH,
NPOTMBOMMECEHHOCTW).

Mocne cbopku TpebyeTcsa faTe Bpems
3aTBepAeBaHNs repMeTuKy.
3anpeluaeTcs ucnonb3oBaHve n3genus
B Te4eHuMn 24 4yacoB Nnocrne 3aBepLieHns
MOHTa)XHbIX paboT.



AM-PMm

6/625 905/1005
g 110 56 ¥
/350 —;f
g
S /
|4+
10
N}
N} L
N 1094
SN
p 1 F

150

X-Joy
w88C-401-090WT

ENG Shower cabin
RUS [lyweBas kabuHa

*CTopoHa onpegernseTcs npu MOHTaxe






Q e

\l

— L&
(=] B J
| =
~] B J
| [




Shower cabin configuration / Komnnektaums kabuHbl 90x90

1 | shower tray on frame with panel noaJoH Ha kapkace € naHenblo x1
2 | syphon CUOH x1
3 | back wall with hole for shower set 3a[lHAs1 CTEHKa C OTBEPCTUSIMU NOJ, rapHUTYP x1
4 | panel naHenb x1
5 | small fixed glass UKCMPOBaHHOE CTEKNO Manoe x1
6 | large fixed glass hUKCMPOBAHHOE CTekrno Gonbluoe x1
7 | door nBepb x1
8 | roof Kkynon x1
9 | vertical profile BepTUKanbHbI Npodunb x2
10 | horizontal profile rop13oHTanbHbI Npodunb X2
11 | waterproof strip BOLIOHENPOHMLaeMas pesnHka x3
12 | E-shaped strip ynnoTHuTens E-o6pasHblii X2
13 | handle KOMMMEKT pyyek x1
14 | glass retainer chukcatop cTekna x4
15 | stopper cronnep x4
16 | top roller BEPXHUE PONMKN X2
17 | bottom roller HVKHWE POrKM x2
18 | mixer cMecuTenb x1
19 | hand shower py4HOI AyLw x1
20 | top shower BEpXHWIA Ay x1
21 | bushing + screw M4 BTYrKa + BUHT M4 X16
22 | washer M4 waitba nnockas M4 x19
23 | nutm4 raitka M4 x20
24 | clamp XOMyT x4
25 | connecting hose COeaMHUTENbHbIN LUNaHr X2
26 | G-connector I-06pasHblit KOHHEKTOP x2
27 | shower set [lyLIEBOA rapHUTYp x1
28 | gasket for connector npoknazka Anst KOHHeKTopa X2
29 | hose shower LUNaHr ayLiesoit x1
30 | hose connection LUNaHroBoe NofcoeanHeHNe x1
31 | screw 3,9x32 camopes 3,9x32 X8
32 | screw 3,9x13 camopes 3,9x13 x4




Shower cabin configuration / Komnnektaums kabuHbl 90x90

33 | screw 3,9x9,5 camopes 3,9x9,5 x4
34 | U-shaped strip ynnotHuTens U-o6pasHbin x1
35 | plug kit KOMMAEKT 3arfyLukn x8
36 | Back wall 3a7HAsA CTeHKa X1
37 | sheif nonka x1
38 | screw M4x30 BUHT M4x30 x2







10




N




&




)

W pesuHoBas

rubber

npoknagka

13




CE | g
az [
\. J =2 ; _
e N mm [l
— ae
———— 3T
@ oo
i U
r J U J
¥
7Y =

14



MM6kas noABofka ANs MOAKMIOYEHUSI K BbIXoAaM BOAOCHaGXeHUs
B KOMMMEKT NOCTaBKM He BXOAUT 1 AOKYNAETCS KNMEHTOM OTAENMBHO,
B 3aBUCUMOCTM OT HEOGXOANMON AfMHBLI NOABOAKWU. CUMMKOH TakKke
npuo6peTaeTcs oTAENbHO.

\ J

15



AM.PM Europe GmbH
L4 Torstrasse 177 D-10115 Berlin
www.ampm-world.com 02/2020

16



